Y = by + b1Xg + byXp + bgXg + bsXy + bsXs + beXg (= f (X1,X2,X3,X4,X5.Xg) )

L =1y = f (X1i,X2i:X3i: X4is X5, Xei) |

dL/dby=08L/db;=00L/db,=0,0L/3by=0,
dL/0b,=0,8L/db;=0,0L/3bg=0

aa bI; = aabo S (yi - by - biXyj = boXoi - baXai - baXai - bsXs; - beXg )* = 0
aa bI; = aab1 S (Yi - by = byXy; = byXgi - bgXgi - byxsi - bsXs; - bexg )> = 0
aa bl; = aabz S (yi - by = byXyj = byXy; = bgXai - byXyi - bsXsi - beXg )2 = 0
aa bI; = aab3 S (Yi - by = byXy; = byXgi - bgXgi - byxsi - bsXs; - bexg )> = 0
aa bI; = aab4 S (yi - by = byXyj = byXy; = baXai - byXsi - bsXsi - beXg )2 = 0
aa bI; = aab5 S (Yi - by = byXy; = byXgi - bgXgi - byxsi - bsXg; - bexg )> = 0
aa bI; = aabs S (Yi - by = byXy; = byXgi - bgXgi - byxsi - bsXs; - bexg )> = 0

.

=2% (Y; - bo = biXy; = byXg; - baXsj = bsXyi - bsXsi - beXgi ) = 0

-2% (Y; - bo = biXyi - byXg; - b3Xg; = byXsj - bsXsi - beXei ) X35 = 0
-2% (Y; - bo = biXy; = byXg; - b3Xg; = bsXsj - bsXsi - beXei ) X1 = 0
-2% (Y; - bo = biXyi - byXg; - b3Xa; = bgXsj - bsXsi - beXei ) X3 = 0
-2% (Y; - bo = biXyi - byXg; - b3Xg; = bgXsj - bsXsi - beXei ) X4i = 0
-2% (Y; - bo = biXy;i - byXg; - b3Xg; = byXsj - bsXsi - beXei ) Xs5i = 0

=23 (Yi = by = byXy; = boXpi = bsXgi = bsXyj = bsXs; = DeXgi ) X6i = 0

1L

2 yi=nby + biX Xy + DX Xpi + b3X Xz + byZ Xy + bsZ X5 + bgZ Xg;

Z Xgi¥i = DoZ Xgi + D1Z XqiXqj + DoZ XqiXoi + D3Z XyiXgi + bsZ XqiXg + D5Z XpiXsi + DeZ XqiXg
Z Xoi¥i = DoZ Xoi + D1Z XoiXqj + DoZ XoiXpi + D3Z XoiXgi + bsZ XpiXgi + D5Z XpiXsi + DeZ XaiXg
Z X3i¥i = DoZ Xzi + D1Z XgiXyj + DoZ XgiXpi + D3Z XgiXgi + bsZ XXy + D5Z XgiXsi + DeZ X3iXg
Z Xgi¥i = DoZ Xgi + D1Z XgiXqj + DoX XygiXoi + D3T XgiXgi + DsZ XXy + D5Z XgiXsi + DeZ X4iXg
Z X5i¥i = DoZ Xgi + D1Z XgiXyj + boZ XsiXpi + D3Z XgiXgi + bsZ XsiXgi + D5Z XgiXsi + DeZ X5iXg

2 Xgi¥i = boZ Xgi + b1Z XgiXqi + DT XgiXp; + D3Z XgiXgi + DsZ XgiXyi + DsZ XgiXsi + DZ XgiXs

bg. by, b, bs. by, b, bg




